
PATTERNS
Circle the box that completes the pattern correctly!

?
A. B. C.

? ?
A. B. C.

?
A. B. C.
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COUNTING UP
Circle the picture that is one more than the number shown.
Then, write the correct numbers under each picture.
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6
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COUNTING UP
Circle the picture that is one more than the number shown.
Then, write the correct numbers under each picture.

COUNTING DOWN
Circle the picture that is one less than the number shown.
Then, write the correct numbers under each picture.
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3
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MISSING ADDITION
Draw the missing group that correctly solves the problem.

4 + = 10

3 + = 7

8 + = 9
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MISSING ADDITION
Draw the missing group that correctly solves the problem.

MISSING ADDITION
Draw the missing group that correctly solves the problem.

+ 10 = 14

+ 2 = 5

+ 3 = 8
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NUMBER LINE ADDITION
Use the number line to add each group of two. 

1 + 4  =

2 + 1 = 3

1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

EXAMPLE:

1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

8 + 1  = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

7 + 2  = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

6 + 2  = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

4 + 1  = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150
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NUMBER LINE ADDITION
Use the number line to add each group of two. 

NUMBER LINE ADDITION
Use the number line to add each group of two. 

3 + 1  =

2 + 1  = 3

1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

EXAMPLE:

1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

10 + 1  = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

1 + 4  = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

2 + 2  = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

3 + 3  = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150
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NUMBER LINE ADDITION
Use the number line to add each group of three. 

1 + 4 + 2 =

2 + 1 + 2 = 5

1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

EXAMPLE:

1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

8 + 1 + 3 = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

7 + 2 + 2 = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

6 + 2 + 1 = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

4 + 1 + 3 = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150
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NUMBER LINE ADDITION
Use the number line to add each group of three. 

NUMBER LINE ADDITION
Use the number line to add each group of three. 

3 + 1 + 5 =

2 + 1 + 2 = 5

1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

EXAMPLE:

1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

10 + 1 + 4 = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

1 + 4 + 5 = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

2 + 2 + 1 = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150

3 + 3 + 3 = 1      2      3      4      5      6     7      8      9     10     11      12    13     14    150
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